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1. (20 points) Two companies, A and B, are operating in an oligopolistic market and are about tc introduce a new product,

each with their own format. Assume that each company will simultaneously decide whether to synchronize format and aiso
whether to use freemium revenue model or direct subscription revenue model.

Freemium model requires an investment (COST) of $10 million and subscription model reguires $5 million in case of
synchronization. Otherwise costs double. Note that, for a synchronized product in the market, both companies need to
choose to synchronize. The first table below summarizes the REVENUE for each company depending on their choice of

revenue model in case they both choose to synchronize and the second table summarizes the similar information when at
least one decides not to synchronize (all numbers are in million $):

SYNC FORMAT:
Firm B
Subscription Freemium
Firm A Subscription 68,68 -5/-6 10,70 -5, -lo
Freemium 70,10-;0/- ¢ | 3535 ~lp ,~lo
NO SYNC FORMAT:
Firm B
Subscription Freemium
Firm A Subscription 42,42 . p, -9 | 12,50 ~10,~]0
Freemium 4514 r/_c/-\;) 20,20 ~#0,- 10
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What is the best decision for each company in terms of synchronization and revenue model given that each wants to maximize
PROFIT, neither knows exawt the other will do but each knows the above two tables?
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2. (30 points) There are two companies, A and B, operating in a perfectly competitive industry. The respective cost structure
for each firm is given below:

T “la . 2 o
A: Total Fixed Cost = 2,900 ( \/(_A - gt lgQdd = 56, AvC, - ®y{
MC(Q) = 10Q " o
,‘(\)( . ( ' S'J "in ' (_)2 } Al/\o‘ ?@8
B: Total Fixed Cost = 1,000 R B
MC(Q) = 5Q

There are 1000 firms with the same cost structure as firm A and 500 firms with the same cost structure as B in this
industry. If the industry demand is given by P(Q) = 5,000-0.1Q and both A and B already committed to their fixed
cost (they already made the purchase and payment for fixed equipment), would either firm choose to produce in the
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b) Would enher fi rm stay in this business in the long run given there is no new entry into the nndustry? '
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c) Would either firm stay in this business if in the long run if there is 18,000 more firms entering each having the same
cost structure as firm A?
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3. (25 points) Company X is operating in a monopolistically competitive market with a total cost of TC (Q) =1000+4Q%, The
demand function faced by X is given by P(Q) = 600-100Q.

a) Whatis the profit maxmznng quantity and pnce for firm X?
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b) Given that X has already produced the amount found in part a, is it possible to obtain posmve profit if the company
can »dentlfy 10% of its customers who have the |ghest wﬂhniness to pay?
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¢) If price discrimination is not possible, at most how much would firm X pay for an ad campaign that would increase its
demand such that the new demand line is given by P(Q) =1,000-50Q7
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QCssDie 10 pnce discrminate uniess the firm can identify its customers’ wilingness to pay either
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8(@ SALSE < The choice of production scale is a decision that is independent of market demand.
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